11A6H 5 - SiH: LAVER—NNLASF
BrtR EF I Ad— k Ba—Fk
18 1
BC 61 2 13 67 sowvwa
1 | 9:30 1220
6 1
¥#E| HBHA [EIF| BH [T o cross | [ [ ]
J3vvat— cross
25 9
REX 114 3% 2| 20 sk
33 4
2% | 10:50 o 11
I$| fricy =x| EU$| & H |T. o| cross
J3vyar—| Cross
20 14
BF 57 0 7| 37 C
3 |12:10 17 6
11 10
& G [aiE] FA [1 o[gnbwL| |
Ay 3ar— SKILL
9 29
skitt 371 ¥ 22| 124 cross
4 [13:30 10 3
4 34
FE| #HH [RIE| 5H |1 o] Rex | | ||
aAzyoar—| REX
7 1
Javyn aa| Y 11 s EF
5 |14:50 e
] B8R [#IE] )G [T o] sk
J3yvaf— Cross
13 33
cross sa| 1 22| 97 Rex
6 |16:10 132
17 10
FE| wmH [FE] 88 |1. o] AT | | | |
a3y 3ar— SKILL
11H78 &) 25 LA R—NnNAZF
BAARFZ Ad— k Ba— k
32
BE os| X 101 35 gy
1 |10:30 30 12
22 8
T BA [EE ME |7 o] AR | | |
J3y¥3aF— —
13 18 ]
AR as| 13 19194 &
2 |13:00 6 35
13 22
&l X% |FIB| ARt o] ov | | |
a3y aji—|




19 12
ov 7] 2 22 49 AR
3 |15:00 18 12
' 18 3
TE[ BA4A [gIE] AT o] BF | |
Iy at—
11H27H (5H) £5  BE A
BRIRERZI AT—F T
16 14
Rex 71|12 1 leg B
1400 25 23
' 18 15

& HE [FIE][ E% [1. o] cross

Iy at—




